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i 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00| 000 ~ 7.25 9232 | #hList | 000 ~ 725] 1.92 9.71 ZnLs 1.00 ] 500 ~ 9.82 9232 | #hList | 500 ~ 982 1.92 9.71
9 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#B 2% — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 6.62 8352 | #nList | 000 ~ 6.62( 1.93 9.73 ZnLs 1.00 ] 500 ~ 8.49 83.52 | #nList | 5.00 ~ 849 | 1.93 9.73
3 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — — | 100kN/mi%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 6.96 88.17 | #nkist | 000 ~ 6.96 | 2.50 12.62 ZnLs 1.00 | 500 ~ 10.03 88.17 | #nll4t | 5.00 ~ 10.03 | 2.50 12.62
4 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — — | 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 6.96 88.21 | #nll4t | 000 ~ 6.96 | 2.02 10.23 ZnLs 1.00 | 500 ~ 10.03 88.21 | #n 4t | 5.00 ~ 10.03 | 2.02 10.23
5 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00| 000 ~ 6.61 83.33 | #nkist | 000 ~ 6.61( 2.09 10.57 ZnLs 1.00 ] 500 ~ 9.94 83.33 | #nli4t | 5.00 ~ 9.94 | 2.09 10.57
6 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 000 ~ 6.61 83.35 | #nList | 000 ~ 6.61( 2.09 10.57 ZnLs 1.00 ] 500 ~ 9.94 83.35 | ZnList | 5.00 ~ 9.94 | 2.09 10.57
7 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 000 ~ 6.72 84.84 | Fnkist | 000 ~ 6.72( 1.93 9.76 ZnLs 1.00] 500 ~ 8.72 84.84 | Fnlist | 5.00 ~ 8.72 ] 1.93 9.76
8 100kN/m%#E2%| 1.00( 0.00 ~ 0.32 104.71 | 3m%H#BZ 5 -~ — — —| 100kN/mi#%#B=2 5| 1.00 [11.94 ~ 12.90 104.71 |3m%E{B 2% - ~ — — -
ZnLs 1.00| 032 ~ 8.10 100.00 | 1 list | 000 ~ 8.10 | 2.47 12.48 ZnLs 1.00 ] 500 ~ 11.94 100.00 | Znlist | 5.00 ~ 1290 | 2.47 12.48
9 100kN/m#%#E2%| 1.00 | 0.00 ~ 0.57 108.44 |3m%H#BZ 5 - ~ — — —| 100kN/m#%#8=2%| 1.00 [10.67 ~ 12.37 108.44 |3m%E{BZ % - ~ — — -
ZnLs 1.00| 057 ~ 835 100.00 | Z#hlist | 000 ~ 835| 2.11 10.66 ZnLs 1.00 | 500 ~ 10.67 100.00 | Zhlist | 5.00 ~ 1237 | 2.11 10.66
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ Zhs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ ZhLs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ Zh s ~ Zh LS ~




